
ems:

① Calculate v x w

a) v = (1 ,
2
, 1)
,
w
= (3 ,

1
, 1

b) v
= (2 , 0 ,0 w=(- 1

,

0

, 1)

② (i +j) x k

③ (ct v = (a, b , c) .

Calculata vxI

Do you
have a

guese fr vxj
& VxK?

④ If v
,
w are arthogonal , what is luxwIl in

terms of Hull
,
Hull ? What if instead the

angle blu v & w is TM ?

③ Let n
= (1 , 0 ,

03
,
v = 40 , 4 ,0)

,
w
= (1 , 1 , 2)

what is the arra of the parallelogom sparred by
a & r ? What is the volume of the

parallelepiped sparred by u,,& m
?

⑥ The cross product is associative .

Lat a = <1 , % ,
0
,
V = 20 , yr) , w = (4 , ) , 1)

Show (uxv)xw = ux(rxw)



⑦ Write the equ. of a place of normal n = <1 , , 1)
passing through % = (4 ,-1 , 1)

⑧ Find the equation of a plane ~parallel to 4X-9y + z = 3

that passes through the rigin
⑨ Find a paramatic eqe · for the line of intersective of

2x + y - 3z
= 0 & x +

y
= 1


